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Vers la multiplication posée 
TO24	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 56 X	
  20	
  =	
  
b- 56 X 60 = 
c- 56 X 200 = 
d- 56 X 26 =  
e- 56 X 62 =  
f- 56 X 206 =  
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Vers la multiplication posée 
TO24	
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  calcule à l’aide des résultats de l’ardoise 
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b- 56 X 60 = 
c- 56 X 200 = 
d- 56 X 26 =  
e- 56 X 62 =  
f- 56 X 206 =  
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Vers la multiplication posée 
TO25	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 436 X	
  400	
  =	
  
b- 436 X 60 = 
c- 436 X 460 = 
d- 436 X 404 =  
e- 436 X 64 =  
f- 436 X 604 =  
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Vers la multiplication posée 
TO25	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 436 X	
  400	
  =	
  
b- 436 X 60 = 
c- 436 X 460 = 
d- 436 X 404 =  
e- 436 X 64 =  
f- 436 X 604 =  
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Vers la multiplication posée 
TO26	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 207 X	
  30	
  =	
  
b- 207 X 700 = 
c- 207 X 730 = 
d- 207 X 37 =  
e- 207 X 307 =  
f- 207 X 703 =  
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Vers la multiplication posée 
TO26	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 207 X	
  30	
  =	
  
b- 207 X 700 = 
c- 207 X 730 = 
d- 207 X 37 =  
e- 207 X 307 =  
f- 207 X 703 =  
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Vers la multiplication posée 
TO27	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 637 X	
  3	
  =	
  
b- 637 X 340 = 
c- 637 X 43 = 
d- 637 X 400 =  
e- 637 X 343 =  
f- 637 X 303 =  
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Vers la multiplication posée 
TO27	
  :	
  calcule à l’aide des résultats de l’ardoise 

 
 

 
 

 
 

 
 

 
 

 

a- 637 X	
  3	
  =	
  
b- 637 X 340 = 
c- 637 X 43 = 
d- 637 X 400 =  
e- 637 X 343 =  
f- 637 X 303 =  


